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* ok k ok ok ok kK Egﬁﬁﬁzﬁ (GOl)********

Y axis Target Vector speed
Position
([S2.], [S2.]+2)
X axis

Start position (D1006,D2006)
M8002

— ———[DMOV K5000 D100] [ &3k

——IDMOV K2000 D102 ] x fifia&% BEREimfr &

——DMOV K400 D104 ]y it eifir &

—{CALL  P10]
—{CALL  P11]
M500
L | ———[MOV K1  D1000] #34f5 GOl
M500 [S1] [S2] [S3] I[D]
— DPLSR D100 D102 D1000 YO0O]
M8029
| [RST  M8029]
[RST M500]
[ FEND ]
M8000
—~ b—[MOV K2 D1001 ] i /5]
- [DMOV H1000 D1002] £
— [DMOV K50000 D1016] f&sikfe
— [MOV K100  D1020] #E#4uE
— [MOV K1000 D1022] jfjnzknsfs
— [MOV K500  D1023] Jaansf
— [MOV K1 D1064 | Eeiff H#7 Y1
— [MOV K1100 DI1065] i D1100 E2e:
[ SRET]
M8000
—| }—— [MOV K3 D1101] 5[
- [DMOV H1000  D1102] £
— [DMOV  K100000 D1116] i
— [MOV K100  D1120] #E4aiE
— [MOV K1000 D1122] huisnsf
— [MOV K500  D1123] Jei ]
— [MOV KO D1164 ] Eiitl 7 YO
L [MOV K1000 D1165] frfii D1000 173
[ SRET]
[END ]




* Kk ok k ok K ?}E\ﬁF’Eﬁ(GOZ, GO3) * Kk ok Kk ok K
(1) B ALCRARENAZE - [BLOHERE » CW IR /71M)(G02)

Target (X, Y) Vector speed

5

cw [S1.]
Start

point
CCwW

M8002 Time

—| ———[DMOV K5000 D100] &8
L [DMOV  K2000 D102 ] x i< 2hps sy &
——[DMOV K400 D104 ]y ifi%¢ B &

——[DMOV K500 D2106] x #fi[El 0 BEAmfr &
—— [DMOV K500 D108]y #fi[El Bty &

—[CALL  P10]

L [CALL  P11]

M500

| ——[MOV K2 D1000] #4HE G02
M500 [S1] [S2] [S3] [D]
— DPLSR D100 D102 D1000 Y00]

| M8029 [RST M8029]
[RST M500]
[FEND ]

P10, P11 [§ I, {H Bit6,01002=0

----[DMOV H0040  D1102] £

[END ]

(1) B \SCRRARA AT ~ [BLLIAERTE - CCW i 1] (GO3)
M8002

— ———[DMOV K5000 D100 ] [&&

L [DMOV K2000 D102 ] x i Bhpsfefir &
——{DMOV K400 D104 ]y iR i &

——[DMOV K500 D2106] x #fi[El 0 BEAmfr &
—— [DMOV K500 D108]y #fi[El o BEAmfr &

L [CALL  P10]
L [CALL  P11]

M500
| ——[MOV K3 D1000] #54fi% G03
M500 [S1] [S2] [S3] [D]

—H—L—{{DPLSR D100 D102 D1000 YOO ]
| [RST M8029]

[RST  M500]
[FEND ]
P10, P11 [ I, {H Bit6,01002=0

----[DMOV HO000  D1102] %%
[END ]

() B ASSEREE R « PIE(NRE > CW IR 77 H GO2
i RIEE > AR/ NEESE - 5 r BAdE > AR KBRS -

— F———[DMOV K5000 D100] [ &k

D102]  x 4B R B
D104] y @il BEEIR A E
D106] {57 e R
—DMOV KO D108] Don't Care

wsoo ICALL  PI1]
| ———[MOV K2 D1000] #541iE Go2
—|'vI500 DPLSR D100 D102 D1000 YOO ]
|M8029 [RST M500]
[RST  M8029 ]
[ FEND ]

P10, P11 [&] F, {H Bit6,01002=1
----[DMOV HO0040 D1102] 2%

[END ]
(IV) B A SR BEAEBARATE 7K (r) R > CCW 3l 2 5 1] GO3

— ———[DMOV K5000 D100]: [&j&
D102] : X il BhEE AR L B
D104] @Y sl BRI B
——DMOV K-500 D106]: {5 EE

—'\|A5|L[MOV K3 D1000] #dx<-HE G02
—'\|/I500 DPLSR D100 D102 D1000 YOO ]
| M8029 [RST  M500]
[RST  M8029 ]

[ FEND ]

P10, P11 [& I, {4 Bit6,D1002=1
----[DMOV H0040  D1102] £
[END ]




